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Key Explanation: Choice C is the best answer. Text 2 indicates that Caceres and colleagues expected to find at the
end of their study that the pools they stocked with multiple zooplankton species would have greater diversity than
the pools they stocked with a single zooplankton species but that this was not, in fact, the case.

Distractor Explanations: Choice A is incorrect because the findings obtained by Caceres and colleagues
fundamentally challenge the hypothesis in Text 1 rather than largely support it. Choice B is incorrect because
“contrary to their expectations” (Text 2) indicates that Caceres and colleagues had assumed the hypothesis in Text 1
was correct prior to conducting their own study. Choice D is incorrect because the findings obtained by Caceres
and colleagues undermine, rather than support, the hypothesis in Text1.




